



Ex.2 - Simplify:

$$Cos\left(\frac{\pi}{6}-\theta\right)+cos\left(\frac{\pi}{6}+\theta\right)$$

$$Substitution$$

$$Substitution$$

$$Simplify$$

$$Cos\frac{\pi}{6}cos\theta+sin\frac{\pi}{6}sin\theta+cos\frac{\pi}{6}cos\theta-sh\frac{\pi}{6}sin\theta$$

$$=\left(\sqrt{3}\right)\cdotcos\theta+\left(\frac{1}{2}\right)\cdotsin\theta+\left(\sqrt{3}\right)\cdotcos\theta-\left(\frac{1}{2}\right)\cdotsin\theta$$

$$=\frac{\sqrt{3}}{2}cos\theta+\frac{\sqrt{3}}{2}cos\theta$$

$$=\frac{\sqrt{3}}{2}cos\theta+\frac{\sqrt{3}}{2}cos\theta$$

Ex.3 - Verify:

$$\tan(\pi - x) - \tan(\pi + x) = -2\tan x$$

$$= (\tan \pi - \tan x) - (\tan \pi + \tan x) - (\tan \pi + \tan x)$$

$$= (\cos \pi - \tan x) - (\cos \pi + \tan x) - (\cos \pi + \tan x)$$

$$= (\cos \pi - \tan x) - (\cos \pi + \tan x) - (\cos \pi + \tan x) - (\cos \pi + \tan x)$$

$$= -\tan x - \tan x$$

$$= -\tan x - \tan x$$

$$= -2\tan x$$

$$\tan x = -2\tan x$$